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B @ Isosceles and Equilateral Triangles

1

(D isosceles
2 equilateral

2
®©, ®
®@®, @

3] (D Isosceles and Equilateral Triangles

4] @ Triangles and Angles

1
O, @

2]
@ (Example)

4

@ (Example)

o

angle

1]
®| side \
@| vertex - i —0Q
2

@ isosceles triangle

®3

3
>

® isosceles triangle
@ equilateral triangle

®©
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{8 @ Division Algorithm(2)

i} @ Division Algorithm(2)

1]

© ® 25X3=75 ® 75+5=

25/x[ 3 |+[ 5 =15
@ @ 25+5=5

® 5x3=|15
( 25+5X%3 )=
2
® 27
@ 4
3

®32X3+-8=12
® |2 students

1
D192+-6=32
@ 32 students

2)

@ 1126-6=187 R4
187+ 1 =188

@ 188 boxes

3
® 420+-3=4=35
©® 35 bags

15| @ How Many Times as Big

m @ Mental Calculation

(1]
D36-9=4
@ 4 times

2]
®56+-8="17
@ 7 times

3
®35+7=5
® 5 times

1]

060+-3= 20 [

02-3=4

Thewatis | 24 |2

2
@22 @ 23
® 17 ® 52
@ 123 ® 140
@210 @ 1300
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17 12. Division Algorithm

18 12. Division Algorithm

® | 8 @ 32 ® 20
4)7 2 3ig7 423
32 7 3
32 6
0 |
@ | 36 ® 206 ® 63
6)8117 3)61 8 9)572
6 6 54
2 1 | 8 32
| 8 | 8 217
317 0 5
36
|
@ 812 2002
8)2200 45%008
| O 8
8 8
20 0
| 6
4
@ 21 @ 144

1
D78+-3=26
@ 26cm

2]

@318+5=63 R3

@ We will fill 63 bottles, and
there will be 3 d¢ of juice left.

3
®12X6=-8=9
® 9 times

) what Computation Should We Use?

ED Missing Digits Calculation

@
D24%x8=192
| 92 pictures
@ 145—125=20
20m
® 285+5=57
57Tm

@ 3600+-8=450
450 yen
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El (D How to Express Fractional Parts

B2 (D The Decimal Number System

1]
D1.7¢

2)
@8
@ |
OF:
® 0.1

3
D 0.4cm
@ 7.2cm

20.8 2

3.6cm
| 1.9cm

1]
D 0.8cm
@ 2.3cm

2

@ 3.4
® 4.9
©® 9.2
@ 1.6

@ 3.7cm

@(@3.5 )

@ @ Addition and Subtraction of Decimal Numbers

m @ Addition and Subtraction of Decimal Numbers

1]

02| 2

06| 6

2)
@0.5
@ 1.7
® 2.5
® |
1.3

@

\ Therefore, the answer is .

0.1s
0.1"s

@ 0.9
® 1.8
@1.9
@ 1.3

1]

2

0.3
@ 1.2
® 4.6
0.4
0.6

0.1s
0.1's

@

Therefore, the answer is .

®o0.l
® 2.1
@ 0.7
@ 0.6
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5] (3 Addition and Subtraction of Decimal Numbers

26 13. Decimal Numbers

1] 1]
D0.6+0.8=1.4 @® 0.7
D l.40 @ 4.8
@ 2.6
2) @ 4.7
@ 1.8—0.6=1.2
@ 1.2de 2
®3.7—3.8— 3.9 4 [—4.1—4.2
®0—0.2—0.4— 0.6 —| 0.8 |—1—1.2
®0.6+0.4—0.8=0.2
©0.2¢ 3
@ 2.8 ® 1.5
@ 1.6 0.8
(O Comparing Weights “4:] @ Using a Scale to Weigh
1 i
(D stapler is heavierby 25 I-yen | (D 10g
coins. o @ 1000g, lkg
> @ 1404
@254 @50¢
2
@5 g
®100¢g
©®48¢g

® 6300
® 4
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4 @ Using a Scale to Weigh

30 14. Weight

1
4
@120 @980

2
@ 820—250=570
®570¢

3

® 600X 3= 1800
1800g = I kg 800 ¢

@ Ikg 800 ¢

@ 860

1]

D 2kg

@ 10g

@ Ikg 150¢

2
@ 9000
®5, 30

® 7800

3
@ Ikg 700 g —400g = I kg 300 ¢
® Ikg 300 ¢

31 Check(4)

B2 @ Multiplication by Tens

1

© 3176 @ 103

2W SW
|15 | 8
| 4 15
|1 3 3
2

@ 63 ®8

® 1.4 @ 0.4

2

® 90x8="1720
130+ 720=2850

@850¢

1]

®8X20=(8X|2)X10=| 160
@ 10, one

2]

@ 40 @ 90

® 360 ® 420

@ 640 ® 200

@ 6X20=120

120 apples
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41 5. Multiplication Algorithm(2)

EB % The Race

1]
D45%x 16="720
@ 720 cranes

2]
@ 6x37=222
@) 222 sheets

3
® 126 X20=2520
® 2520 yen

1]
O6—1=5

18 X5=90
@ 90m

2
@ 4xX8=32
@ 32m

[B (D How to Express Fraction Parts

m @ The Size of Fractions

1]

D4m

@3m

2]

®%e 12 @%e ilei
[— Im- B

5 4m [ e ]

@%m e L

> 4

@5 @I @8 (03

@

S
6

|

-+ ojo

0.2 @0.6 0.9
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EE @ The Size of Fractions

EE @ The Size of Fractions

1

v FtT=g

%;sém L%x( 3+ 1)
2

@£ ®3
g 5%

® 1) D1
®4+5-4

@50

47 16. Fractions

1]

D30

@ 3im

2)

@ (4(3) @ (50)

3

®% ® 1)
D+ ®

4

@g+E=2=1 | 2
oj4-t 4o

Number of children

@ R R
| 4 |childrer ‘\‘*Dchildren

2]

@ 80+[]=620

@ 540 ¢

3

® 86+[]=200

® 14
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%) 17. Math Sentences with []

0 17. Math Sentences with []

1) 5l
o[J-|6 =10 O [ x5=30

[ [ Jchildren--. @ 6 cards
> " —=

6 | children | O |children @
2] Q@[ IxX6=420
@ []—670=280 @®170¢
@ 950m
®[x8=176
®[]—-52=128 ©® 22
©® 180
51 17. Math Sentences with [] 4 @ Abacus
1] 5l
D58 @178 D fixed point @ 5-bead
@ 100 @211 @ rod @ |-bead
©8 ©® 21

2

2 ®1l,5
4 ® ones place
@ 25+ ]=52
27 roses
> @243 ® 157 @809 (0680
@[]—85="175

1 60cm
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%) & Abacus ! & Abacus
1] 1]
> >
D®2 (D 5-bead (in the ones place)
@ 5-bead @ a |-bead (in the tens place)
> >
@2 @ |-bead (in the tens place)
@ |-beads @ a |-bead (in the ones place)
2] 2]
® 49 ©® 62 ® 10 ©17I
@6 76 D17 19
@4 645 @12 67
Magic Square 56 Check(5)
w 1]
(D Answers may vary. For example, | © ok 222 ¥ el
93 175 8 4
62 75 252
713 925 2604
® 47 ® 362 ®© 1709
X 30 X 54 X 82
1410 | 448 1418
1810 5672
19548 58138
6 3
(2 Answers may vary. For example, D 6) 9
2]
6 |1 8 @[Ix4=236
7153 9 years old
219 4 3
381 @181
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57 Numbers

58 Multiplication

1 1
D7 v 32 @ 56 @ 754
® 390 192 50 4 5278
@ 4,000,500 RS £ TS - SN ¢
64 %1 L UL
@Seven 3108 2376
® o 387 605 @ 900
seven X 46 X 34 X 20
(D seven (2322 2420 18000
5 17802 205170
%
2
2 96 X25=2400
10 2400
@3.I->I.8->I.4->0.9->% © m
59 Division 60 Calculation with Decimal Numbers and Fractions
il @
oK @ 90 @o0.9 @ 1.9
@3 R5 @ 9 R2 1.9 @ 6.7
® 13 | 3 10 ® | ® 1.4
4)5 2 7)9 6 6)6 4
Z Z 5 @ 0.5 ® 1.1
12 21 @ 1.6 0.5
125 42 806 0.7 @20.7
5)%25 9)%'67’8 3)%2|9 @é @i
Tt 7 | O3 7
25 0 - 8 4
2 o o}
(38+5=17 R3 l 2
7+1=8 O3 D%

(2 8 benches
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61 Time and Elapsed Time / Length / Weight

62 Geometic Figures

1
D 240 @1, 55
@ 6000 @ 5060

2]

® 10+20=30
® 30 minutes

3
@D 650+ 400= 1050
1050m = I km50m

® 1kn50m

4]

@ 2kg100g =2100¢
400+[]=2100

lkg700g (1700¢ = 1kg700¢ )

1
D 16cm

@ equilateral triangle

2]
Qf

63 Tables and Graphs

64 Word Problems

1]

The number of books read in one week (books)
0 10 20 30

@ science

(©) sports

@ picture book
® others

2)

® 2 times
(D 217 times
4

6 more times @ | more times

Nancy

1]

@D 80+ 120=200
200— 190=10

@ 10cm

2)

@ 72— 48=24
24+-2=12

@ 12 stickers

3
®3x9=27
®27m

4]
@Ox7=84
® 12 pieces




